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- (1) Surliya

Who among the following was not

included in the Cabinet of Matsya

Union ?

(1) Yugal Kishore Chaturvedi
(2) Chiranji L4l Sharma

(3) Bholanath

(4) Prem Narayan Mathur

The incident of ‘Kudan’ belongs to
which peasant movement ?

(1) Bikaner (2) Bundi

(3} Begun (4) Sikar
‘Nagnachi Mata Mandir is
situated in —

(1) dJaipur (2) Barmer

(3) Jalore (4) Jodhpur

Chilha’s tola is the prévious name
of which fort ?

(1) Jaigarh Fort

(2) Chittorgarh

(3) Gagron Fort

(4) Ranthambore Fort

Which of the following painter is
not related. with Bikaner style of
Painting ?

1) Aliraja :
(3) Ahnied

(2) Hamid
{4) Sahibram

From the following list of
ornaments, identify: the ornament
worn in the ear :

(2) Matarmala
(3) Takaya (4} Mundri

‘Shankriya dance’ is related with -
(1) Bhils (2) Garasias
(3) Kalbelias (4) Gurjars

‘Neminath Barah Masa’ is written by —
(1) Sumatigani

(2} Palhan :

(3) Rajshekhar Suri

(4) Jindutt Suri
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| '(1) One

. The

. What do you mean by Charan

Charjayen ?

(1) Prayer of Karni Mata
(2) Charan Folk Song

(3) Charan Narrative
(4) Charan Festivals

To whom does the Governor of
Rajasthan not administer oath of

office ?

(1) Judge of Rajasthan H1gh
Court

(2) Speaker of  Rajasthan
Legislative Assembly

(3) Member of Rajasthan
Legislative Assembly

(4) State’s Minister -

. Which of the following power the

Governor has under Article 213 ?
(1) Ordinance Issuing Power
(2) Power of Pardon =

(3) Veto Power

(4) Power to form 'Council of
Ministers

How many women have been the
Chief Secretary of. Rajasthan
before present Chief Secretary
Usha Sharma ?

(2) Two

(3) Three (4) Ten
Rajasthan Public Service
Commission presents its annual

- report to

(1) President of Indla

(2) Governor of Rajasthan

(3) Rajasthan State -Legislative
Assembly

(4) Union Public
Commission

Service
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Which one of the following statements
is - correct regarding Rajasthan
Public Service Commission ?

(1) The Chairman and other
members are appointed by
the President of India.

As nearly as may be one-
third of the members of
Rajasthan Public Service
Commission shall be persons
who at the dates of their
respective appointments have
held office. for at least ten years
either under the Government of
India or under the Government
of Rajasthan. ‘

A member of Rajasthan Public
Service Commission shall hold
office for a term of six years
and the age of 62 years,
whichever is earlier.

A member of Rajasthan Public
Service ‘Commission may resign
his office by writing under his
hand  addressed: to  the
Chairman of the Commaission.

one of the following
statements is not correct regarding

(2)

3)

4

the Rajasthan State Human Rights

Commission ?

(1) The Commission has the
power to make enquiry when
there is violation of human
rights by a public servant.
The Human Rights Commission
is an autonomous high power
human rights watch body
which derives -its authority
from the Protection of
Human Rights Act, 1993.

2)

(3) Only a former Chief Justice of
a High Court can be appointed
as  Chairperson of the
Rajasthan State Human
Rights Commission.

(4) The Commission has an

investigating agency of its own
headed by a police officer not
below the - rank of
Superintendent of Police.
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Which of the following provisions -
of Constitution of India is not
related to Panchayati RaJ ?

(1) Article 243 -

(2) Article 40

(3) Art1q1%41

(4) Eleventh Schedule

&y o
Who shd? be the chairman of
Busmesganlﬂdwsory Committee of
Rajasthdn?Vidhansabha ?
of the Rajasthan
Vidhansabha
(2) Leader of the

) Rajasthan
‘Vidhansabha

(8) Leadsr of ther oppdsition in

Ra]asthan Vidhansabha
(4) A meniber of the house who is
appo&;:’i?;ted by the Speaker.

LT

Who wallithe Protem Speaker of
XVRaJa ﬁan Vidhansabha ?

(1) ‘Gul .;Qhand Kataria *

(2) Bhanwar Lal Shaima: -

(3) Kailash Trivedi
(4) Mahesh Joshi

oy

LIERS SR Y

In which year ‘the No- Conﬁdence
Motion was presented for ‘the last
time in kb Rajasthan. Legislative
Assembl{.y
(1) 19933
(3) 1985&n}

W

(2) 2009 -
(4) 2018 r

Consider %e following statements

regaldmg Delphic Games . of
Rajasthan :
| I. Residentss of  Rajasthan

between the ages of 18 and 35

years ﬁa‘lay participate in it.

It 1s%b§1ng held from.9 to 12
Febryary 2023 at Udaipur.

Onlytl4s correct. | : Lo
(2) Only’c is correct.

(3) BothT and II arée correct.

(4) Neither I nor II is correct.

I

(1)




21.

22,

23.

24,

25.

“Rre 3foan mave’ # teree 3 frifea
T e I e 7
(1) 98 (2) <au
8 T (4) <o

2001 < SOrET £ gET A ST

2011 ﬁmﬁwﬁaﬁnﬁﬁw

Terepeg gHT :

(1) R dgigsEs |

(2) o e e ® |

(3) FIHE Uy H wI weEnd Tl
TR

(4) SoHEH g i B AE R |

(1) 1089459 (2) 13@508
(3) 1284598 (4) 159 459Y

T ) v g A % AR
TR S — -

mi:

(1) ToRI= HI dgel TWRed A

2022 % SHI'E |
(2) THR 3R i ofE Nl F 50 TR W
3Tt T ASFIR o 75 Fretd |
(3) we =i, 2025 o Wl Wit |
(4) T Bt wweaRETe RO B
ASTITe T 0T O 389 ¢ |

UM @R & ‘§d §=913 = 894
 TGIEH SR i HS TR IS P

(1) ghfrsem

(2) ateg faard . ELIE
(3) el ween

(4) I wE

ferifea 3 & R aqrgsm‘ﬁwf%mq
IEE AT & ATd A o FI A= E 7

f it

LT e BTSRRI SR N AR TR M

21.

22,

23.

24.

25.

Which of the following position has

been achieved by Rajasthan in ‘Fit

India Movement’ ?

(1) First (2) Second

(8) Third (4) Fourth

=

In comparisonsywith the Census

2001, identify zFhe incorrect option

with  regard & fo Census 2011

concerning Rala han.

(1) There has”heen an increase
in the gen‘c'le:t ratio.

(2) Gender ratid among children
has decreased.

(3) There has been no change in
population density.

(4) There has been a decrease in
growth ratg_,gf population.

Who is the bfzhd ambassador of
‘Beti Bachao B% Padhao Abhiyan’
of the Government of Rajasthan ?
(1) Sunmidhi Chouhan

(2) Alpna lean

(3) Apoorvi Chandela

(4) Avni Lakhera

Which of the following age group of
women are entitled to take benefit
of Udan Yojna ?

(1) From 10 to.45 yrs

(2) From 13 toFD yrs

(3) From 12 to»—45 yIs

(4) From 15 tct.45 yIs E:

Which of the éollowmg statement

about the First Rajasthan

Handicraft Policy is not correct ?

(1) The first handicraft policy of
Rajasthan was released in 2022.

(2) This will provide more than
50 thousand new
employmeﬁ_ﬁ opportunities in
the comin five years.

(3) This pOllC% ill be effective till
March 2025,

(4) One of its-objective is to revive the
extinct traditional handicrafts.
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Which of the following statements

1s not correct ?

(1) 18th National Jamboree is

being organized at Rohat in

Pali District of Rajasthan.

The theme of 18th National

Jamboree is “Progress with

Peace”.

(3) Rajasthan has got an
opportunity to host National

- Jamboree after 67 years.

(4) In 1956, National Jamboree was

hosted by Rajasthan at Ajmer.

2)

Who among the following has
received the Sahitya Academy
Yuva Puraskar, 2022 of Rajasthani
Language ?

(1) Mahendra Bhanawat

(2) Komal Kothari

(3) Ashish Purohit .

(4) Dula Ram Saharan

Which of the following Board has not

been proposed by the Government of

Rajasthan recently ?

(1) Rajasthan Leather Crafts Art
Development Board

(2) Rajasthan State Washermen
Welfare Board

(3) Rajasthan State Madhatma
Jyotiba Phule Board

(4) Rajasthan State Cooperative

Board

The Digital Museum in Rajasthan

State Assembly has been named :

(1) Rajasthan Politics Museum

(2) Political Narrative Museum

(3) Legislators of Rajasthan Museum

(4) Freedom Fighters of Rajasthan
Museum

Approximately what percent of the
world’s population lives in the
Northern hemisphere ?

(1) 60% - (2) T0%

(3) 80% (4) 90%
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. Match the following and select -

the correct answer from codes

given below : :
List — IT List - II
(Islands) (Oceans)
A. Galapagos Island i. Indian
) Ocean
B. CanarylIslands ii. Pacific
‘Ocean
. C. Diego Garcia 1i. Atlantic
Island Ocean
D. New Siberian iv. Arctic
Islands Ocean
Codes :
A B C D
1 i i #Hi v
2y 1 1 iv”
@ iH{ #Hi v i
4) 1 1 i iv

Which one of the following is not

"a planetary wind ?

(1) Trade Winds

(2) Westerlies Winds .
(3) Monsoon Winds
(4) Polar Winds

In which year the Sustainable -
Development Goals (SDGs) were
adopted by the United Nations ?

(1) 2014 (2) 2015

(3) 2016 (4) 2017

To restrict population migration
which country had adopted a
policy based on skin colour ?

(1) Canada

(2) South Africa

(3) United States of America

(4) Australia

Arrange the following Purvanchal
Himalayan hills in correct North-
South order :

A. Baril B. Patkoi
C. Naga D. Mizo
Codes : ' .

(1y A,B,C,D (2 B,C,A,D
3) AD,B,C @ B,DCA
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The highest seasonal rainfall of
about 75 cm between October and
December 'months in -India
through North-East Monsoon
occurs along :

(1) Konkan Coast

(2) Malabar Coast

(3) Coromandel Coast

(4) Northern Circars Coast

Penganga and Venganga are the
tributaries of river

(1) Gomati (2) Mahanadi
(8) Godawari {4) Yamuna

‘Sundyi’ is an important species of
(1) Tropical Deciduous Forest

(2) Tropical Thorn Forest

(3) Mangrove Forest

(4) Alpine Forest

Which among the following is not
an off-shore oilfield of Western
India ?

(1) Mumbai High(2) Basséin

(3) Aliabet (4) Ankleshwar

Which of the following statement
is {rue regarding edible oils
production in India ?

Statement (A) : India is the
world’s second largest
consumer and number one
importer of vegetable oil.

Statement (B) : In August-2021,
National Mission on Edible
Oils — Oil Palm (NMEOQ-OP)
has been launched to
augment the availabilify of-
edible oil in India. '
Statement (A) is true.
Statement (B) is true.

Both are true.

1)
(2)
3)
(4)

Neither (A) nor (B) is true.
a
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FH @ | -

- (B) wia & oft T 7 59 2020-21

F dvm o o@ off © fenad F ey
3T HHiesh Sy gl IFTgHE § |
Tl e i gH1d HifT ;

(1) o (A) Gdi g |

(2) %= (B) W R |
(3) BHT (A) wer (BYwdl € |

@ MA)FRRTIB)TE R

Freafafga & @ fog &3 9 2020-21

“(H,) ¥R 2021-22 % QRA S==ad

FDI siesdt s1=aaig smesiia femer 7
(1) warser sew

(2) ST HTFEARR H gEam
(3) eI

(4) W &

41.

42.

43.

RTINS S P S RPSTT SV EUVIE SR S P ——
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According to the

(A) Indian Pharmaceutical
Industry ‘ranks third in the
world in pharmaceutical

production by volume.

(B) India is the second largest
supplier of generic medicines
with a 80 percent share in
the global supply.

Choose the correct answer :

(1) Only (A) is true.

(2) Only (B) is true.

(3) Both (A) and (B) are true.

(4) Neither (A) nor (B) is true.

Which of the following statement

Cistrue ?

(A) Chandigarh reported highest
share of services in GSVA
while  Sikkim  remained
lowest during the year 2020-
21 in all Union Territories of
India.

(B) Maharasthra & Karnataka
are the top -two contributors
to services GSVA during the
year 2020-21 in all the states
of India.

Choose the correct answer :

(1) Only (A) is true.

(2) Only (B) is true. -

(3) Both (A) and (B) are true.

(4) Neither (A) nor (B) is true.

Which of'the following séctor

attracted highest FDI equity

inflow during 2020-21 and 2021.

22 (H)?

(1) Automobile Industry

(2) Computer Software &
Hardware

'(38) Telecommunications

(4) Services Sectm:

Economic
Survey 2021-22, which of the
following statement is true about
Indian Pharmaceutical Industry ?

Ob
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44.

45.

46.

47.

48.

OD:

. (3) 1862 %1 siffam £
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. I
* -
v "

£t §-9 2 a1 29 YR T 2021-22 -

T g8 ST SR H GEER @ 7

e 3 2 o s gL o st |
T ShY CATqT 61 S T R
(1) 1909 =1 3ferf=m e
(2) 1892 = Aftrfram i

4y 1919 %1 FRfT gmy

Fifesa ﬁﬁﬁqm@ﬁ-a&mﬁw

TRreprar =1 T FIERA R &S

@ IdaRubmFanem .

(b) i feremray 3 fere fratem

(c) Wi |l fY =

@) ¥z 3K A F 77 7hE w5
T 4

Wﬁa%mﬁmﬁm%?%"rw |

(1) (@), (), ©), (@ ‘(2)3), ©, @, (a).
@) (), (@), @), (©) W), (@), @), ©

o 5. dt.aR. e fruw sk
FAY ?

(1) wfegmsmer
(2) T WK T R
(3) == L
(4) wg™
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e R i e e

[N LY
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44.

Is) Gl

15.

48.

Which of the following countries
1s the largest trading partner of
India in the year 2021-22 ?

(1) United States of America

(2) Britain

(3) United Arab Emirates

(4) China

Which of the following system )

was abolished by the Act of 1935 ?

(1). Communal Election

(é) Provincial Autonomy

(3) Diarchy in Provinces

(4) Office of the Secretary of
State for India

By which of the following Acts,
efforts were made to establish
responsible. governance in the
provinces ?

(1) Act of 1909
(3) Act of 1862

(2) Act of 1892'
.(4) Act of 1919

Which one of the following

chronological sequences of the

Constitutional development of

India is correct ? o

(a) Two chambers of central
legislative assembly

(b) Election for
legislative assembly

(c) Formation of Constituent
Assembly

(d) Distribution of powers between
Centre and the Units

The correct chronological sequences

central ,

' of the constitutional development

of India is :

(1) (@), ®), ©. ) 2) Ob),©,d),E)
(3) (). (@), (), © @ (1), @), @), ©
In the Post-Partition, Re-

constituted Constituent Assembly,
Dr. B.R. Ambedkar represented :

-1 (1) West Bengal

(2) Central Provinces and Berar
(3) Bombay
(4) Madras.
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49, P iy e Tea e S ae 7€ S 7 | 49. Who among the following was not

50.

bl.

(1) .S IR

(2) TH.UH. HIgFETE
(3) wh.uH. gt
(4) w=.4. gasl

R % Wi %1 3esg 15(1) T59

R TR ¥ Y 5. A

MR R s TNy a2 1 &

Rl # Freifea 8 @ o w st

Tid?

1) wd

2) ==

(3) wis

(4) SH-TIH

-1 %1 eIl 9 free iR 3R

g % Y R o e § 9 ol swWEH

I HIRE
g -1 gt - 11

A. STl i. g8
oI CIuERE 51 A viii
K T _

B. wwfs ii. T=ve
e 6 51 A vii
&t

C. Amifes i, T=Re
gfdenior 1 51 Aiv
e

D. cIHIE iv. 3G

-BlAix
g
A B ¢ D

@ i i iv. il

2 i, iv i il

3 iv i i i

4 #Hi i iv

i

ot 3 A - 3 8
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50.

51.

a member of Drafting Committee ?
(1) N.G.Iyengar

(2) S.M. Saadullah

(3) K.M. Munshi

(4) H.C. Mukherjee

Article 15(1) of Constitution of
India prohibits the State to
discriminate with their citizens
on certain grounds. Which of the
following ground is not included
in Article 15(1) ?

(1) Religion

(2) Race

(3) Language

(4) Place of birth

Match List I with List II and’
identify-the 'correct answer from
the codes given below the lists :

List-1 List - I
A. Protect and i  Article
improve - the 51 A viii
natural
environment
B. To safeguard ii. Article
public 51 A vii
property
C. To develop iii. Article
the scientific bl Aiv
temper - .
D. To defend the iv. Article
country 51 Aix
Codes :
A B C D
1 i 1 iv i
(2 i1 iv i il
@ iv 1 a1
4 1 1 il iv
OD
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Wﬁhmﬁq@@% 2. not related to economic justice

. ﬁqfrl?rshﬁw aﬂﬁi{ 39%31’3’8‘[( ‘ | 2. Which of the following option is
|| according to Article 39 ?
(1) Wmﬁ%ﬁmwéaq | I

(1) Equal pay for equal work.

(@) | mﬁ#&% Sferer ¥ vt | \ (2) Equal citizens have the right

- = Em to get adeguate means of
R ! ) i livelihood.

(3) = 3R ITIEA TIEAT T HEHTHR I (3) Money and = means of

¥ fea s R oA E | productions should not be

i
l
: i central to the common good.
(@) facft sl ﬁgﬁ e | ‘E (4) Opposition to private property.

: ?ﬂaﬂﬁ?ﬁ%mmm )\\ 53. Under which Article does the

T@Wﬁﬁqﬂﬁﬂm fol A ? I President decide on the Bills kept
(1) =T 200 . I in reserve by the Governor ?
: (1) Article 200
2) 3T 201 Ok .
( ZE (2) Article 201
(3). IFeRE 203 | : (3) Article 203
(4) aﬁazozm _‘ (4) Article 202

w ' | : .
. ﬁmﬁﬁvﬂﬁﬂﬁfgﬁﬁﬁ?ﬂ%mﬁ %!54. Which of the following Prime
Ty ] 5 forr 7 - Minister did not designate a

ministér as Deputy Prime’

(1) Tty meft | Minister?
(2) mm%}g@ o ii (1) Rajiv Gandhi
3) SRR M E'ﬂ i (2) Jawahar Lal Nehru
: '1 (3) Indira Gandhi
(4) TR % ; (4) Chandra Shekhar
B il |
. TSHIfa® &l ﬁ@nq:n F SR H “155 Which of the following pairs
ﬁﬁ%{%ﬂﬁ@ﬁqm“@qﬂm% 2 ;E regarding formation of political
T P parties is incorrect ?
(1) ngaﬁrw"ﬁamﬁ 1999 l 1 (1) Nationalist Congress iParty :
' n 1999
9) Jurrer e . :
@) uidi : 2013 ; ‘1 (2) National People’s Party
(3) s ifem e e 1998 | | 2013 L
o ] E (3) All India Trinamool Congress
4) EIE\?F[HTTIG[ : 1985 ; t‘i! : 1998
P

(4) Bahujan Samaj Party : 1985

/




56, ¥ET-A I YEN-B ¥ A iR -

57.

58.

59.

60.

- A = -B
A, sesfemwiraE i e
Ah t
B. i SaT g i, feas e
C. IR e ok il TR
CS|
D. W wRe W iv. FiEmm
R
A B C D
() i 1 il v
(2 . i 1 v i
(3) i i iv i
4) 1 i iv i

QWW@W%W

Waadl o 9IE gYH

?Fﬁaq=aaﬁafna‘ﬁga'ﬁ=$a'anﬁﬁﬁa
frarer ?

(1) 1947 (z) 1948 -

(3) 1949 (4) 1950

Wia ! anfi a9 e uityg § s
e e A el SR § ¢
(1) 2 (2) 8

3) 5 (4) 6

Yoe Givel WRA H Tg! 9o war
Tt g8 oft ?

(1) ¥ra (2) ?mﬁa‘

(3) I (4) EAfmr
fraffes § @ =W wr sy R
HRTA S Asa S el d e i g ?

(1)'asiﬁaﬂﬁiﬁiﬁ%ﬁ??MWEHﬂ'aﬁig
1 Sk Wi Sfea I AT R |
(2) 9 3reaTg! i REnRRE % e |
o g aRed o d Aeg wET R |

‘() W RrenRii it wweiiEl @

FFAAIHT TGS FA *
e g = ® |

(4) Iz el =t = B wHEE H Heg

HEATR |

BT To promote Asian solidarity, the

<

LA,

14

56.

60.

oy (3) It ignore
%ﬂ weaknesses and fallules of

A T S P T APLed LT e St

Match the following List — A w1th
€3 List—-B: :
Lo List - A List — B
A% All India Forward 1.  Odisha
42 Bloc ,
B BijuJanta Dal ii. West
> Bengal
@ Indlian' National Lok iii. Bihar
Da
~ D. Lok Janshakti Party iv. Haryana

Select correct option from the
codes given below :

,3 Codes:
A B G D
@ (1) i s A i S A
¢ (@) i 1 iv il
¢ i 1 v i
c:; (4 1 il iv il

first Asian Relations Conference
after independence of India was
held by Jawaharlal Nehru in
which year ?
(1) 1947
(3) 1949

(2) 1948
(4) 1950

- 5%m How many times has India been

o0 elected as a non-permanent member
of the Security Council so far. ?
W@ 2 (2) 8
w5 (4) 6

5% Where was the first meeting of

= World Social Forum organised 7

(1) India- (2) Brazil
(3) Argentina (4) Indonesia
Which one of the following

statement is not correct with

reference to ,the importance. of’

mEducatmnal Psychology ?

(1) Tt inculcates proper attitude
among the teachers towards

:3 solving  the educational
problems.

(9(2) It help teachers to bring

- appropriate changes in the

I~  behaviour of the students.

tends to the

the students.
It helps the teachers
understand themselves.

(4) to




61l. Pr=fufga & @ ®F @ S R
THifeH W Rem % w1 F 9 9
FERA AR S ?

(1) =% gl @ P § gfecda
TN AE R |

(2) T SEER $ I TY G
fafr = v e g 1.

(3) 9% fhgro weMiftes w0 @
el € |

(4) @} TONW TH F IYUR W
TeE R e gl

R T @ a3t smeR g
2 | R fewn = 98 fag@ w7
FEATEI R ?

(1) Tatheil-hiser (TEaTEET)

(2) Wi (e & )

(3) SHHR

@) e

Frfafiga 4 @ =9 9 Ruics s
e Rrepr W RE B R ?
(a) SUTFA
(b) T
() Trraiea
() =EmE uimE
TEI e M T HIT :
KT )
(1) (@)™ (b)
2) @ ()
(3) (a), M) (d)
4 (a), (), © @ (d)

Frafefea & @ =9 @ A s g
VoW SR fereed 1 Ryifa arewe
TE R 7

(1) T T IEe

(2) gE-HiRaTeTs TR

(3) Hi-ElshATCH e

(4) IFIEIE HisFaT IEe

62.

63.

64.

OD

.

15

- 61‘

T T 2 1 APS b VO] o gt
-~

Which one of the following is not
the criteria for considering
educational psychology as science ?
(1) No changes are possible in its
theories and laws.

In it scientific method is used
to study the behaviour.

Its theories are universally
accepted.

In it prediction can be done
on the basis of present
knowledge.

(2)
3)
(4)

Development proceeds from ‘the
centre to the periphery’. What 1is
this principle of developmental
direction called ?

(1) Cephalo — Caudal

(2) Proximodistal

(3) Spiral

(4) Linear

63, Which of the following
determinants affect the physical
development of children ?

(a) Heredity

i (b) Nutrition
(¢) Games in school
(d) Endocrine glands
Choose the correct code :
Codes :
(1) (a) & (b)
2) © &)

(3 (@), b) & (d)
@ (@), ®), () & (d)

64. Which of the following is not the

prescribed stage of cognitive
development as given by dJean
Piaget ?

(1) Sensory Motor Stage

(2) Pre-operational Stage

(3) Concrete Operational Stage
(4) Informal Operational Stage



65.

66,

67.

68.

Teh HE et <l T Yo qgm
<1gal & | g 9 Ugel 9% TemiEi i
AR &9 @ IR FT 1 T FE R |
weM TSI wme

(1) 31 1w
(2) wvE = Form
(8) eawa 1 fraw
(4) ST TE I e

1

FfifEre % 5 3 same % feg SuR &
emeff dicht T smuRw W 3=
TR FGUTONET o 9 Sied 8§ 3R

" e TH oK wg W SR AR

TR T oA E ?
(1) e
(3) =T

(2) @
(4) Terae

TTeeH 98y i Teent (WRe) B EE
T § wafF < day H ke | g ot

“ i a1 g | e w6 98 em S

ST g —

(1) wg-3rgfohen 1-Fram
(2) GTE=d wRIHiaRe i1 e
(3y w9TE = Fem

(4) G e = fem

TeIE % IFEAR I e S A O
syl w0 sffie s@ #
Toeenr 39 smR W) fopelt safw =
UM T % T FFaT S wRaT 8, A
BICHEIGIE

(1) S s

(2) ot sfe

(3) | e

(4) SR e
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65.

66.

(1) Engage

67.

68.
I

A teacher wants to teach a topic to
students. Before teaching he tries
to make students mentally
prepared. Which law is he using ?

(1) Law of exercise

(2) Law of effect

(8) Law of readiness

(4) Law of use and disuse

In which step of 5E approach of
constructivism the learners
connect learned concept with other
related concepts and apply their
knowledge and understandings to
the real world ?

(2) Explore

(3) Explain (4) Elaborate

Reinforcement increases the
strength of a connection, whereas
punishment does nothing to the
strength of a connection. This
learning law is known as —

(1) Law of multiple response
(2) Law of associative shifting
(3) Law of effect

(4) Revised law of effect

According to Allport the traits
which  represent those few
characteristic tendencies which
can be ordinarily used to describe a
person, are known as —

(1) Central traits
(2) Secondary traits
(3) Common traits
(4) Source traits

oD

T P R
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70.

72.

ﬁq%%aﬁ%aﬁqmm%%ﬁm

H wad! Rt = € 2

(a) g WIEwH

(b) I it

(c) -werfirier o

(d) =afE e &

GE e T T HINT : g

5= ,

O @EEO @ © qa‘@
(3) “(b). TS (d). 4 (a), (b)@ (d) |
mﬁéwﬁﬁmﬁ‘g@aaﬂﬂa‘fﬁ 70
SR EAl § HIT I8 -ITEgE, T A \
TE A 2, O RN 6 AR i\l
Treeme 2
(1) & (2) uﬁm{; Qﬁ
(3) W&o 4 ﬁaﬁ’f Eesy

.'ﬁnﬁiﬁgaﬁéﬁ?mﬁm@ém

sffer gfg + Pewrh few %
m@mﬁaﬁwaﬁﬁmqﬁ% ?
FHEH ‘?‘ﬁ
(a) wfsmam ~ oA
b) FrEg w@
© I - Hﬁw
aﬁ%wwﬁﬁq [
e P~
O @Wh (2 Fb9db)
3) () (c) (4) e (c:)

ﬂﬁwﬂmﬁﬁgﬁgqﬂwﬁﬁﬁﬁm
STH HTaT 8 W Tt Siier
IS I diFdl § THS 3t
Han i wReh % or § i@ &
T T o @ | Bt (3
g & agan, W W A g

w8 —
(1) fowueEs (2) g
(3) Idaafm  (4) SAGEING

oD

\

B
T

projective, techniques of personality
assessment ?

(a) Word Association
(b) Sentence.Completion
(¢) Sociometry

(d) Case Study

Select the correct code :

\
I

Codes :
O @&©Q @ ©&@
@) & ' 4 @, 0&d -

. When a person deliberately fofget

his sad experiences and suppress
them in the unconscious mind, this
defense mechanism of adjustment
is called

(1) Repression
_(8) Projection

(2) Regression
(4) Displacement

. Which one of the following is hot a

correct matching of the dimensions
and its - elements of
Tridimensional theory of intelligence,
propounded by Guilford ?
Dimensions
(a) Operation _
(b) Content ~ ‘Cognition
(¢) Product . - ‘Memory -
-Choose the correct code
Codes :

(1) @ &)
3 b) & (o)

Rohan scores low on traditional
intelligence tests but he -quickly
grasps real life problems and easily
picks up knowledge about how the
- world works.  According fo
Triarchic Theory, this type pf
intelligence is called

(1) Analytical (2) Social

\' (3) Interpersonal (4) Practical

Elements
— ‘Evaluation

(2.) Only (b)
(4) Only (c)

‘\! ¢ i
l ;
i

|

| o

=

69. Which of ‘the following are not

the -
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(1) geve sfpron

(2) e AR

(3) FATHAvEIETAT T ARETH

(4) Sqefedr Afnrem

FP =5 % FhY Tewh % TR
& srerar TN Hger Rty B
SH:ETEI@?P[%? '

(1) INETIFHAL

(2) Wuled

(3) IF

(4) SreaTE

76. Frafafes § @ w7 a1 wfvmmen sremi

3 o A TR 7
(1) Tafire st smiem
(2) Terres SreaTUe SueTe AT
3) mmuﬁrﬂfn

(4) THIHT BT H&T IUTE HIET
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73.

74.

75.

- 76.

In which one of the following stage
qf creativity, individual suddenly
perceives the theme and
relationship among the varioqs
components of the problem ?

(D "Preparation

(2) Incubation

(3) Ilumination

(4) Revision or Verification

The positive desire to excel, to do

well, to accomplish something on
one’s own is known as —

(1) Affiliation Motivation
(2) Power Motivation

(3) Motive of Aggressiveness
(4) Achievement Motivation,

Which component of  the
motivation cycle results in the
restoration | of physiological or
psychological balance ?

(1) Need
(2) Drive
(3) Motive

(4) Incentive

AY

Which one of the following is ‘not
the enrichment programme for
Gifted Children ?,

(1) To arrange special classes

(2) To arrange specialist teacher
(3) To provide advance courses

(4) To provide common class-

room

OD
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© (3) @), (i), ()

. Prerfa i 8 w1 B %
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(@) e wsdl d P e

(ii) Zoa-gw Tl T IT=ERT
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(iv) % & Siam | S Tiafafeei
1 IS TR ST

wgi e I gL :

i&.’ :

(1) (@, di), (i), Gv)
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G AU TR ® ?

(a) aTgRy ST gt R |

(b) el § dxiors T& e
e B 8, Thg Trumms =
RIS 78] | '

(c) Ry =reER » w it fo
WEHRFER _

(d) PR ads TR S # |
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(1) Fa (c) (2) (a), (b) W (d)

®3) b)T () @ @@
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T 8, W AE R gN Fipa

TR i el gl 7
(1) =% (2) T
(3) wnismi  (4) wifv@

1 LY T TS A" T D ST
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77. You ave teaching the class of slow
learners. Out of the- following
teaching *- techniques which
techniques will you adopt ?
(i) Give directions in

words.
(i) Use of audio-visnal aids.
(111) Presentation of abstract ideas
verbally. .
(iv) Activities related to their daily
life will be organised. -
Choose the correct codes :
Codes:

(1) @, @), (i), @v)

2) @, 4D, (iv) ‘
(3) (i), (ii1), (iv)
4) @, (i), (i)

simple

[

Which of the following statement is

not correct with vreference to

Cattitude’ ?

(a) Attitude is innate. .

(b) Attitude has cognitive and
affective components but not
conative or behavioural.

(c)' Attitude provides a definite
direction to behaviour.

(d) Attitude is always positive.

Choose the correct codes :

Codes :

(1) Only (o)

(@) (a), (b) & (@)

(3) (b)& (c)

| (4 (@) & (@)

79., If a teacher infers the interest of a
student in drawing by observing
that the student is always drawing
in free time, then what type of
interest will it be, classified by
Supel ?

(1) Expressed (2) Manifest

(3) Inventoried (4) Measured

—_—



80. wEH TR ToE F B &5 §
TRERE ?
CA. IAfREE-ug !
B. et -g®
! C. 3EH - i
D. gRHTg — €
(1) ABWD (2) A,CWD
3 ABWC. @) B CwWD
81, TawH % F=fifen ¥ & few Rt &

<Ror-uffem TrRE AR 1 e &
& IR ? ‘

(1) TR (2) HHFR B

3) e @) TS

83, T aR i P et R
(A) T BT (IAR) ¥ ITRE AN R |
(B) &oclt, YAl Y Qalh g
g A & | ,
(C) 98 T ToIM o WM et
45 Tl enfga B2 |
ORI AT S STTHR T T B g
1) =&
(2) iveH s
(3) wrawTh
(4) wrew o
83. Tri el 3§ idm vare AW E 7
(1) SEIR, e, 44, Frilere
(2) ST, FRE, Fraarel, TR
3) 3w, urelt, R, T
(4) TR, WA, YIeIgL, SR

R e o PR SIS EENS SSpa——
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| 80.

81.

82.

83.

Barchans are found in which

.areas of Western Rajasthan ? -

A. Osian — Jodhpur

B. Bhaleri — Churu

C. Deshnok — Bikaner

D. Dantaramgarh — Sikar .

(1) A,BandD (2) A,CandD
3) A BandC (4) B,CandD

In which of the following districts
of Rajasthan, the south-west
monsoon gerierally arrives before
1st July ? '

(1) Ganganagar (2) Bikaner

(3) Pali "(4) Hanumangarh

Read the following facts about a

river :

(A) It originates from Kotada
(Udaipur). .

(B) Hathmati, Meshwa ‘and Vetrak
river are tributaries of this river.,

(C) This river flows only about
45 km into Rajasthan.

‘Recognise the river on the basis of

above facts :

(1) Mahi

(2) Western Banas .
(3) Sabarmati

(4 -Jakham

In which districts Mixed Deciduous

Forests are found ?

(1) Udaipur, Kota, Bundi,
Chittorgarh

(2) Pratapgarh, Dungarpur,
Banswara, Nagaur

(3) Ajmer, Pali, Sirohi, Churu

(4) Alwar, Bharatpur, Dholpur,
Jalore
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Match the following and select
the correct answer from codes
given below :

List - 1 List ~ 11
(Crop) (Main
Producer)

A. Wheat 1. Alwar

B. Bajra 1i. Bhilwara

C. Rice 1ii. Ganganagar
D. Maize 1iv. Bundi

A B C D
1 i i 1 v
(2) #Hi i1 v i
B 1 i iv il
4 1mi v i i
The change in total population of
Livestock in Rajasthan from 19th

Livestock Census (2012) to 20th
Livestock Census (2019) is —

(1) An increase of 1.66%

| (2) Decrease of 1.66%
. (8) Anincrease of 4.2%

“ (4) Decrease of 2.66%

According to 2011 Census, which
I district has highest rural sex-ratio ?
(1) Jhunjhunu (2) Jalore

(3) Pali (4) Rajsamand

]

rI‘he correct pair of districts in
Rajasthan with the lowest
population growth rate during the
decade 2001-2011 is —

(1) Jhunjhunu, Pali

(2) Pali, Ganganagar

(3) Ganganagar, Jhunjhunu

(4) Ganganagar, Bundi
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93.
- rulers-is also known by the name of

94.

Which is not a correct match ?

Tourist Location
Centre

(1) Gagron Fort ~ dJhdlawar

(2) Kapil - Kolayat
Sarowar

(3) Daulat Bagh - Ajmer

(4) Lalgarh Fort - Jaisalmer

Which one of the following cement
factory is not located in
Chittorgarh district ?

(1) Birla Cement Works Ltd.

(2) J.K. Cement Ltd.

(3) Aditya Cement Works

(4) Hindustan Cement Ltd.

Of which Culture Ahar is the main
centre ?

(1) Copper Urn

(2) Silver Urn

(3) Red & 'Black Urn

* (4) Black Urn

In which of the following Ancient
Civilization)s ~do we find two
inscriptions of Emperor Ashoka ?
(1) Ganeshwar (2) Kalibanga
(3) Bairath (4) Banas

From which of the following ruler does
the Mandor-Pratihar dynasty begin ?
(1) Rajjil

{2) Harish Chandra

(3) Bhogbhatt

(4) Kandek

Which of the following Chathan

Bisaldev ? _,

(1) Vigraharaja III

(2) Vasudev

(3) Vakpatiraja I

(4) Vigraharaja IV

Who was the founder of Chanhan
dynasty branch of Jalore ?

(1) Alhan + (2) Kirtipal

(3) Ajaysi (49) Kumarasinha
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99,
I ‘Rajasthan Madhya Bharat Sabha’
iy heldin 1919 A.D. ?

100 From whose efforts the

!

. Who was ‘the

! (3) Ujjain

In which of the writings of Amir
Khusro the invasion on Chittor by
Alauddin Khilji is described ?

(1) Tarikh-I-Alai

(2) Khazain-Ul-Futuh
(3) Ijaz-I-Khusrawi
(4) Qiran-Us-Saadain

By which name Jalore was known
in the ancient inscriptions ?

(1) Jaigadh (2) dJalalabad

(3) Jabilpur (4) Khizerabad

British Military
Officer in Neemuch at the time of
Revolt of 1857 A.D. ?

(1) George Patric Lawrence
(2) Colonel Abbot

(3) Major Bartan
(4) Br. Holmes

Which Sultan was defeated by
Maharana Sanga in the battle of
Khatoli 7

(1) Babar

(2) Ibrahim Lodhi
(3) Mahmood Khilji
(4) Bahlol Lodhi

Where was the second session of

(1) Nagpur (2) Karachi

(4) Amritsar

Praja

'Mandal of Kishangadh State was
lestablished in 1939 AD ?

(1) Vijay Singh Pathik

(2) dwala Prasad Jigyasu

(3) Balwant Singh Mehta

(4) Kanti Chandra Chouthani
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